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— R 2127 Dan PN A7 RN
Pulling and leading yes; but not riding

OVERVIEW

The X713 cited a XnN™12 concerning 7371M 72°wWn by a camel and a donkey,
and the manner in which they are 7137. The Xn»72 does not mention 2137 (by
either of them). The X3 infers from this that only 7373m 72°wn are 7P,
however 2137 is not 71p. Our MdOIN explains how we arrived at this
assumption.

nooIN asks:
— %1 9’917 2199 )9V 55 N1AYT 1YY N NN

It is astounding! How does the X712 derive that 2157 is not 712, perhaps
2121 is certainly 721? (even more than 271 JUn), for he is grasping it?!

mooIn responds to an anticipated answer to his question:
— 1939939 17915 NI N7 VI3 HON NIYT DIVN IN)

And if you will answer that the X723 derived that 2127 is not 71p since the
XN 72 omitted it (it does not mention 2137 only »n3a Jwn); but this is
insufficient proof, for is it indeed so that in all other places, he teaches and

mentions all the 3°191p?! The question remains how the X723 inferred from this
X172 that 2107 is not 71p.

n90IN answers:
—YN2INY 1NAYITT P91 NN NIVNNKT 93D U

And one can say; that he derives it from the excessive language of the

Xn13, for the Xn»12 should have combined and taught the cases together:
— ND I 902 122 1252 192 0NN IN 1P2VIN IV DY

‘Two people who were pulling or leading whether it was a camel or a

donkey, they are 717°, and say no more; however -
— NN 2199 Y0957 N ¥RV NP Xawrva sanp1mn

Since the Xn>12 taught with excessive language, we can derive from this
Xn>72 that he meant to exclude 21o9.

mson proves his point, that if 2197 is 7P then the X012 should 177223071 ¥77°279°5:
— 1NN 1NAYID 991 N2 72997 1M

" Instead of saying 71n3 72 5132 12 DO R PV 1AW 0°1w the RN™I2 writes PATIINI 132 1OV POV DWW
1271 271 TARY W TR AW R 2. The excessive language is to teach us that 2137 is not A1p.
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And this is what the X3 asks later, ‘if 2107 is 7237 then 3720103 y73v29%°.

nddIN continues to ask:
— 2199 YVIYNY 1Y NIN ONYY 9INRN ON)

And if you will say; still how do we know to exclude 23121 -
— 99N NHNNY Y1992 NNIIN NIPWNT 1IIMNYND 15 111939y RDT XN NNYT

Perhaps the reason the X072 did not combine them is in order to teach

us that (even though) it is usual to pull a camel and lead a donkey (and not

the reverse) -
— 91952 21310 AN TWIN THN 291 129N

But nevertheless if one was 7212 and one was »>7% a camel -
— NOMINX INDT NHININD NN DN NNIINT NIYWN HVAN XD

The n12°w» which is usual for a camel does not nullify the 773727 which is

unusual for a camel -
— NIDIX 91N3 199

And similarly the opposite is true concerning the donkey -
— 22199 Y0195 NI 17310 TANY TYIN 1NN 597 1N NI 799

And therefore he continues afterwards (once he established %n3a 72°wn
and "2 7a717) that if one was qw» and one was 37 (either by a 13 or
Tmn) he is 12, but not to exclude 219!

N1B0IN answers:
— >93N3) 9532 999 ©H%Y NININY NIPYNY NYNRYIY 1153 119 Y

And one can say; since the Xn»92 will teach us (through the 171°27v%) that

oown and 73737 are both (equally) 7337 by a %23 and 221, then -
— 495M9IN IND AN DINNIN INDT DIV 923N SvVan NN PRY ROV

It is obvious that one 7°17 will not nullify the other °I? merely because one
is usual and the other not (so) usual; the proof from 731051 172°27°% remains.

Moo responds to an anticipated question:
— DYTINT N3N NN D292 1N 2199 HVAN PRY 929V NYINUN 51’5‘1’)5‘\)3: YaN

2 mpoin question is that if the X012 would have only stated 71272 1°21 932 P2 PRI R POVIN VIV DI, we
may have thought that in a case of 3711 'X1 Jwm 71X only one would be 71 (the one for whom the more
common PIp was used; i.e. 2232 712°wn and 7n2a 73737). Therefore the miwn teaches us that in spite that 9m
72°wn1 1577 and 7AT102 1277 7; nevertheless even if it was 27 'R W 'K (by a 7 or a i) both are
anp.

% The ®n™72 should have stated 7mma P2 D32 P PRI R Pown Paw 2w, We would then know that
neither 1737 can be Hvan the other 1°1p even if one is 7°71KX and the other is not.

* See “Thinking it over’ # 1.

> See “Thinking it over’ # 2.
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However® in our 7w it is proper that the Xin teaches us that 337121 2190

19392 is not wvan the 357 alone -
£ DXANT NI NNINA YIY A1 Y9 21991 WY saY

Since 2121 possesses all the advantages which 3771 has and in addition he

is 172 ©95N. In such a case one would have thought that the 2137 is superior and S02an the
»mn, therefore the 7Wn needs to teach us that it is not so (but not concerning X2 7K
7°rIR; that is not sufficient to have us think that RX is AR IR? H0an).

SUMMARY

The need to teach that one 13 is not Pvan another is only where the superior
71 contains all the elements of the other "3 plus an additional advantage;
however it if does not contain all the elements of the inferior 11p, then it is
obvious that it cannot be Yv2an the inferior 11p.

THINKING IT OVER

1. Mmoo states where two 2°1°1p are 711? (separately) then certainly one 7°1p
cannot be Yvan the other.” How can we reconcile this with the query of 27
770 in a case of »nin Dpna 2107 whether the (7°71%) 2197 or the »man is
np?’

2. mooin is differentiating between the cases of =AM 32 AxTIM A2°WN
(concerning 1°1p), and 3°731m 2107 of our 7IWn (concerning MpPiMn). Why did
not NBOIN answer that concerning a 1P there is no X7 that one 112 can be
%van another 7°1p; however concerning M1, there is a X120 to argue that a
superior "1 can be 2v2n the Mprmn of an inferior ]’JP?!lO

3. mooin explains that there is reason to assume that 1°17 2027 1°1p, only when
the superior 117 contains all the elements of the inferior "7 and something
additional. Seemingly by 71371 712°Wwn each one contains all the elements of
the other plus that it is 777X, Why does mooin exclude it from assuming
that there too 1°3p is P1p Svan?2!!!

% moon just taught us that if we know that both 22137 are valid, then we assume that neither can be uan the
other, even if one has an advantage over the other. Why then does our 712w need to teach us that 37711 2127
1°9372 is not 2°77an 2van, since both 31 and 1°2372 31711 2107 are valid separate 2°1°1p.

7199372 2731 2197 causes the animal to move no less that 371, See “Thinking it over’ # 3.

¥ See footnote # 4.

? See: (48 #) 7"nR ;"M ,°"10 and 1737 MR 92,

"% See m"nx #51.

"' See mmonn pym ma nnon.
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